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DFGT-T-HTM

w9 (1729 + 1929 =1 18 & Tawfom e sman 2,
Al ISR =T AT ' 7

(a) 6
(b} 2
) 1
(d) 0

n % 98 H98 =g 99 ¥41 2 e = e omn
oHEEE 10§ fawfsE & s

255033 4% x5V BT x T8 x 812 9% %

108 % 1512 3 2014 % 9911 2515 9

(a) 6b
(b} 55
(c) 50
id) 45

&1 479865AB # fhay 7 (A, B) Hwa § 1fg
de 9 g fawrsy @ oft uz fom gan 2 6

& & A o9 faem & 2
ta} &

(b) 6

e} 9

d)y 11

(2-A)

WHeE  Hed  Ygld # oS
999 x abe = def132 T femm ifsm, =@T a, b, ¢,
d,e 3T F3IFE| a b, e d e dATf H AN
FHIL T R 2

(a) 6,6,8,6,8,7
(by 8,6,8,6,7,8
(e} 6,8,8,7,8,6

(d) 8,6,8,8,6,7

= misai A, B 3R ¢ wH wE-fag @ wew
5p.m.,ﬁp.m.3ﬂ“(?p.m.tf{ﬂﬁ:11mﬁ?ﬁ
£ 3R FUT: 60 km/hr, 80 km/hr 31 x km/hr
=i TwEEE a0 & @ fgen # awn = #
afg @t % dom @ft i v o= e W
us |y et &, a9 x % uE w2 7

fa) 120
(b) 110
(c) 105
(d) 100

fomm i amg = ad wEet 1 @ fir el quiis
&1 o4 (FgE) off ot 3R ad =g fedt qoiies
a1 B | 30 Froel 21 de S AT =R A1
Il 3y qeadt a9 # fedl den = e e
Iwadl av # TRt e oW owm (EE) w1
T 2

(a) 799

(b) 1299

(¢) 1479

(d) 2199
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What is the remainder when (17%7 + 19%%) ig

divided by 18 ?

{a) B

{hy 2

icl 1

dr 0

What is the largest value of n such that 10"
divides the product

29 %33 4B 5 67w 7O x 812 x 97

108 3 1512 x 2014 x 2211 x 2515
tal 65
(b} 55
() 50

(dy 45

How many pairs (A, B) are possible in the
number 479865AB if the number is divisible
by 9 and it is given that the last digit of the
number is odd ?

(a) 5
ith) 6
() g

dr 11

4,

(3-A)

Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, e and
are digits. What are the values of a, b, ¢, d, e

and f respectively ?
(a) 6,6,8,6,87
(b) 8,6,8,6,7,8
e} 6,88,7,86

(d) 8,6,8,8,6,7

Three cars A, B and C started from a point at
5 pm.,, 6 pam. and 7 p.m. respectively and
at uniform speeds of 60 km/hr,
80 km/hr and x knmvhr respectively in the same
direction. If all the three met at another point

travelled

at the same instant during their journey, then

what is the value of x 7

fal 120
(b} 110
(e} 105
(d) 100

Priya's age was cube of an integral number
(different from 1) four years ago and square of
an integral number after four years. How long
should she wait so that her age becomes
square of a number in the previous year and

cube of a number in the next year ?
{a) 7 years

(b) 12 years

(e} 14 years

(d) - 21 years
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Frafefigs § & =98 =9 o 787 2 2
(a) 2 H = 2 39T gEmal & 3 2 g
faar=g 2
{(b) ?ﬂﬁa'{yﬁaﬁm,naﬁtﬁmﬁ@np
% forn, 7fg p TREA m x n I fawrE
HA1 2, 99 p I1 91 m ! AT n = e
HAl B |
(¢) IR THFEH 6n—-1 FEIHE (n &
YUl WA &), 99 48 Ush WSS el
2|
(d) o g HENE] F1 Had UF B U
g & fomd & Fekeadi e
T 2 A B | -
x>nﬂsﬁ=rt{,x+"2;2'q'ﬂzﬂarlﬂﬂw%?
(al] 1
by 2
{e) 2%
(d) Fraifa 78 e s asan
1+px ||1—qx_ -
m m—l%,?ﬁlxa’??ﬁﬁﬂﬁ
w78 7
(a) :I:l 2P_q,2p:tq
p\l q 12.
1
b S, =
(b) ipqdp q,p#q
(c) tﬁﬂ'p—q,p#q
(d) i%ﬂ'Ep—q,Zpiq
(4-A)

10. U BEEE § 9 w90 FE d 200 B gfy

61 7€ & | afz oEmam § sl £ den
20% <t gfg $1 I & AR TEAEE HeF WO
Al B, q9 FW sEA § T gEA 0
wfeTa AgeE B 2

(a) 30%
(b}  40%
(e) 44%
(d) 48%

T 3 B wE € o o A fame d wedt
2 | fomrera 91 % o gl A wmsfee @1 wEm
H & | TuT A 8 knv/hr 2 TafE 7T H
Tfa 10 ka/hr B | Torene g % fog gan v
g 9 fire %9 &ft B | T ofl 2w % e @
fererera femen gz 2 2

{a) Hkm
(b} 55 km
(e} 6Gkm
{d) 65 km

weat & Fefafes @ 9 $F7-a gm, adE
X243 X ORI EA B ?

(a) 0,2
(b)
{c)

(d)
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y Which of the following statements is not|10-
true ?
{a) The difference of two prime numbers,
both greater than 2, is divisible by 2.
(b)  For two different integers m, n and a
prime number p, if p divides the product
m x n, then p divides either m or n.
ic) If a number is of the form 6n-1
(n being a natural number), then it is a
prime number,
(d) There iz only one set of three prime
numbers such that there iz a gap of 2
between two adjacent prime numbers. 11
8. For = > 0, what is the minimum wvalue of
x+2
-+ y:
2x
(a) 1
(b) 2 4
(c) 21
2
id) Cannot be determined
l+px |1-qx
9. If —— |———= = 1, then what are the
1—-px V1+qgx
non-zero solutions of x ?
D5
@ +2 /2709 o5, 12.
p q
; 1
(b} d— pP—-q,p#q
Pa
@ +E/p"q,pzq
q
(d) + %\!Ep-q ' 2p =g
DFGT-T-HTM (5—-A)

In a hostel the rent per room is increased by
20%. If number of rooms in the hostel is also
inereased by 20% and the hostel is always full,
then what is the percentage change in the
total collection at the cash counter 7

(a) 30%
(b)  40%
e} 44%
(d) 48%

Radha and Hema are neighbours and study in
the same school. Both of them use bicyeles to
go to the school. Radha's speed is 8 km/hr
whereas Hema's speed is 10 km/hr. Hema
takes 9 minutes less than Radha to reach the
school. How far is the school from the locality
of Radha and Hema ?

(a) SHkm
(b} 55km
(e} Bkm
td) 65km

Which of the following pair of numbers is the

solution of the equation 3**% +3*=10 ?

fa) 0,2
(b) 0,-2
© 1,-1
dy 1,2

www.examrace.com



13. ¥g famn gan @ & log, 2 = 0-3017F
log,, 3= 04772 | (108)10 § fopa 37 & 2
(a} 19
(h) 20
(c) 21
(d) 22
14. &9 amursy "EAredt &1 Anmee 100 B | 9fE T
4 weh forelt gufl e & 36 sfuss R, @@ W
HEAA | ° U g B
(a) 17 16.
(b) 29
(c) 43
(d) 9w 4 | g T
15. H&a,haﬂnmqyfﬁmﬁﬁmﬁﬁﬁ'
1
—1~=£‘E,aﬂa,baﬂtc7ﬂm
a+r——
b+ 1
1
C4+—
2
T B 2
(a) 1 18.
b)) 2
(c) 1-33
(d) 233
DFGT-T-HTM (6-A)

e AW (03) gy & forn Prefefiae @ e
irfo

1,00,000 SEETT 9T et s § o9 w=n

% WHTER-9F (1, 11 3f 1I0) Sueey & | 39 e A
GHETL-YET i qea J1el Anll o1 Sfoea 59 TR R -

FHTAR-T7 W BT I
1 10%
1I 30%
111 5%
gl 1 3R 10 8%
BT 11 31T 111 4%
g1 1 3R 101 2%
aeft = (1, 11 3R 100) 1%

Fae Ush GO UgA aTel 0T sl 5 =
27

{a) 20,000

(b) 25,000

{e) 30,000

(d) 85,000

FHAFY o GAERTE H Gg4 a6l AR 6l
e =R 7

{a) 12,000
(b) 13,000
(c) 14,000
(d) 15,000

3 T EE w9 R W 5 i SR §

g wré ot TERTE 7877 vea E 0
(a) 62,000
(b) 64,000
{c) 66,000
{d) 68,000

www.examrace.com

L



13. It is given that log;; 2 = 0-301 and

log,, 3 = 0-477. How many digits are there in

(108109
(a) 19
(th)y 20
fc) 21
(d) 22

14. The sum of three prime numbers is 100, If one

of them exceeds another by 36, then one of the

numbers is

ta) 17

(hy 29

() 43

id} None of the above

15. If a, b and ¢ are positive integers such that

1
e %, then what is the mean of

A+ —e

b+

1
c+

abande?

(a) 1

by 2

() 1-33

(d) 2-33

DFGT-T-HTM

f =

Consider the following for the next three (03)
items:

In a certain town of population size 1,00,000
three types of newspapers (I, II and III) are
available. The percentages of the people in the town
whao read these papers are as follows :

Newspaper ﬁigﬁ: of
I 10%
1I 30%
I 5%
Both I and 11 8%
Both II and 11T 4%
Both I and III 2%
All the three 1%
(I, IT and ITI) :

16. What is the number of people who read only
one newspaper ?
(a) 20,000
by 25,000
{c) 30,000
id) 35,000
17. What is the number of people who read at
least two newspapers ?
fa) 12,000
(h} 13,000
(e} 14,000
(d} 15,000
18. What is the number of people who do not read
any of these three newspapers ?
(a) 62,000
(b) 64,000
(c) 66,000
(d) 68,000
A
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19.

20.

21.

22.

DFGT-T-HTM

778 & oEW T 3e1E F IH TR ?
{al] 1

(b)
(e

=

id)

o wifu o 7@ SHE F UH SAeHE Ui B
fF (n? + 48) UH QU S R | FH TFH F 0 H
T =R ?

(a) TUeh

(b) &

(c)

(d)y =

e HEE
B3 ’

qH R ?

x+2sl"§

2 Ei—ﬂﬁ 1
x — 242

L
x—2J3

(ay 1
by 2

() /3
d 2

1 "SI x, v 31 2 30 T B TR x, 2 H 30%
2oy, 2 9 40% 8 | 4% x, y 1 p% B, A p
& HE =R 7

(a) 45

(b) 55

() 65

dy 75

23.

24,

25.

26.

(8-A)

U faum v gard 9TH % =R AN TR
SR T A 2 | Uk FaeR @@ R o fame
3 fome & 2 | gft ot fomg P og 1 HEE W
ST 999 (¢ + 30) TEUE W e % I9ET &
TS # | T (4 + x) 9HE W, faue fag P
F FEater 321 B | x Tohoes s 2 2

(a) 75 HEHUE

(b) 90 H®HUE

(¢) 105 HHUZ

(d) 135 UHUs

@lcﬂfﬁﬁﬁpaﬂ?q{aﬁbl},ﬁﬁﬁ;mﬁﬁﬁ:

w2, % el § fefafas we w fT=en

=ifau

1. p3ilt q§HT A9 &AL B Hhdl 2 |

9. p3ilt q 2FT 9T e B gl 2 |

3. p 3 q # F UH AN AN gHO 9T B
Hehdl 2 |

37§ § i %A oE 2

(a) “hael 1371 2

(b) “hael 23 3

(c) “hael 13T 3

(d) 1,233

uF wa § 100 FFanf &, G siga a9
30 kg & | afz erefral @1 ofted 999 24 ke 2
o weHl 1 32 kg B, O He H gl F
T fopet & 2

tal 25
(hy 26
(e} 27
(d) 28

fordl 4 andfas #@emel a 3 b & fou,
J{a—h}g+\/(h—a}?' Bl

(a) 3‘3?”31?1

by =t oft v A

(c) Waﬁ?ﬂﬂﬁa:h

(d) TR AfG 3T Fae AR a>b
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19. What is the unit place digit in the expansion | 23.
of 7737
(a) 1
{(b) 3
(e 7
idy 9
20. BSuppose m is a positive integer such that
(n? + 48) is a perfect square. What is the
number of such n ?
24,
(a} One
(b) Two
{e)  Three
(d)y Four
46
21. For x = ———— , what is the walue of
J2 +43
x+242 A X + 243 2
x—-2J2 x—2J3
(a) 1
25.
(b) 2
() /3
{d) 2
22. =¥, y and z are three numbers such that x is
30% of z and v is 40% of z. If x is p% of v, then
what is the val fp?
value of p 28,
(a) 45
(b) &5
(e} 65
(dy 75
DFGT-T-HTM (9-A)

A plane is going in circles around an airport.
The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
a point P on the ground at time t seconds is
equal to that at time (t + 30) seconds. At time
(t + x) seconds, the plane flies vertically above
the point P. What is x equal to ?

(a) 75 seconds

(b} 90 seconds

(e} 105 seconds

(d) 135 seconds

Consider the following statements in respect
of two integers p and g (both > 1) which are
relatively prime ;

1. Both p and q may be prime numbers.

2. Both p and g may
numbers.

3. One of p and q may be prime and the
other composite.

Which of the above statements are correct ?
(a) 1and 2 only

(b) 2 and 3 only

(e 1and3only

(dd 1,2and3

be composite

In a class of 100 students, the average weight
is 30 kg. If the average weight of the girls is
24 kg and that of the boys is 32 kg, then what
is the number of girls in the class ?

{a) 25
(b) 26
(e) 27
(d) 28

For any two real numbers a and b,
Ja-12+ Jib-a)? is

(a) always zero
(b} never zero

(c) positiveonlyifazb

(d) positive ifand only ifa>b
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2 42 & o el & | srem-stem feedi
: th=¢:d=1:8 ,?FTE i EFI‘ITFTEI' ﬁé‘g kY
27. AWa:b=c:d g b2 +d2 FH F fou vw uEs Fi sEvgs 1Y i
T dr g oo, Fefefiaa anoft § gufe o # .
. UMD | WOT I | WO IO
Y. s Tfd (kmph) 9 8 7-5
5, wag (famei ) | s0 80 100
60 30 T il Ea nfa =R 2
(e} L) (a) 817 kmph
a2 (b)  8-00 kmph
@) é (© 7-80 kmph
(d) 777 kmph
28. 053+0-53 ToFas U= 8 ? ga WE B o P L € F N SN
b+e c+a a+h
(a) 1068 o § ST %99 T8 2 2
i " (a) w R 1 —1% s R
(¢ 1068 (b) mﬁa%m1%mg|
(d 1068 (c) mﬁa%mﬂ#mh
1
29, mﬁﬁlaN:stﬂiﬂﬁﬁ%,?lﬁ id) uﬁmﬁawﬁ%w%r
(a) N =T$ Y9901 HE&AT & 1 .
i 33. uen 352l w1 8 € fgwifem e san 2 | Suwe
(b) N, 2¥ =5t wh gAqel TE A w7
(e) N, 3d @€t s yaqul & & @ 1
(d) N, 3 % =] U 90 HEA ' ® 38
ey 7
30. Tr=fafas 4 @ s9f vs s gEn 2 2 d 9
(a) /59049 34, U HUSY HEAT H THE & TIH W IHH X B |
T4 U1 & et o6 X B ued 8 2
B 281
593 (a) 3
ibh) 4
(c) 0-45454545......
cd &
(d) 012112211122211112222....... @ 6

DFGT-T-HTM (10-A)
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27. If a:b=e:d=1:86, then what is the value of |31. A race has three parts. The speed and time

a? 4 c? . required to complete the individual parts for a
b2 +d2 runner is displayed on the following chart :
@ L ' PartI | PartIT | Part I1I
600 Speed (kmph) 9 B 75
) & Time (minutes) a0 80 100
G0
What is the average speed of this runner 7
(@) é (a) 817 kmph
(b}  8-00 kmph
(d) % (e}  7-80 kmph
{(d) 777 kmph
is 053 3 7
28. What is 0-53 + (53 equal to 7 dg. AP & B .o B T
= b+te e¢+a a+b
S the following statements is correct ?
(b) 1068 {a) Each fraction is equal to 1 or —1.
() 1068 (b}  Each fraction is equal to % or 1.
id) 1-068 i
{c) Each fraction is equal to = or —1,
29. The inequality 3% > N” holds when (d) Each fraction is equal to % only.

(a} N is any natural number

{(b) N is a natural number greater than 2 33. The number 3°2! is divided by 8. What is the

remainder ?
{c) N is a natural number greater than 3

a) 1
(d} N is a natural number except 3 ) 3
e} 7T
30. Which one of the following is an irrational d 9
number ?
@) /59049 34. A prime number contains the. d.lgit X at unit's
place. How many such digits of X are
i ?
(b) 231 possible 7
593 (a) 3
(e) 0-45454545...... (b} 4
(e} &
(d) 012112211122211112222.......
d) 6

DFGT-T-HTM (11-A)
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35. A} UH WG FI 6% B F T 6% TN W/gg fouy men & F 9w x2 + ax + b) B (x — 1)

E?Qmﬁfﬁmw%%' YAl (x + 1) ° foufse =0 w Ivws oo
g s A AT R | a3t b WA wuw T # 2

a

A - G (a) 4370

© %42 (by 03T 3

(d) 03 Hg f qis
36. Us @ HI Hes 12 7E9 H2"l 18 wlwensii &
I

o 14 fodt H Ao owEAl R | 8 T I |49, et w1 F @ w A g H 6 = E,
16 ufeend w8 @a i Fed fhed fA 4w wafF 3R 3¢ FE F 10 92 A G wEr B |
Hhd B 7 Ife a g1 e ®m &, 9 38 ®E
(a) 26f & 1 faRaa gay =9 2
(b) 24T (a) 3
(¢) ofem (b 3% 15 fiFe
(@) 8f= (¢ 3% 30 fime
(d) 3 He 45 fime
37. IR 3 =4¥=12* %, 71 z Forer o= & 7 }
(a) xy 41. 2+J2+,,’2+1,|'....,...,?ﬁmﬂw%?
(b} =+¥
s (a) 1
R (b) 2
(d) 4x+3y R
d) 4

5 ?ﬁ%&???ﬁ;ﬁ%ﬁ?”mg’ 42, U witenm H, 529 wiene s F % gy R

429 TV H el 7T | Afg 17% 31 fawl § S

a C

- gr3 g, d Ml faval d faeed ofawm wheneff o
: ?

() 2=2 ®

d b ta) 7T
© 2.4 (b) 58

b ¢

" (¢) 48
gy 2R &
@ ==3 d) 23

DFGT-T-HTM ' (12-A)
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35. If an article is sold at a gain of 6% instead of a | 39,
loss of 6%, the seller gets ¥ 6 more. What is
the cost price of the article ?
(a) 18
by T 36
{c) T 42
(d} =50
36. A field can be reaped by 12 men or 18 women 40
in 14 days. In how many days can 8 men and :
16 women reap it 7
{a) 26 days
(bh) 24 days
{c} 9days
(d) 8days
37. If 3* =4 = 127 then z is equal to
lal =xv
(b) x4y 41.
) w
X+ ¥
(dy 4x + 3y
38. If (4a + Tb) (de — 7d) = (da — Tb) (de + Td), then
which one of the following is correct ?
' 42.
a ¢
fa) —=-=
b d
S
(hy ===
d b
a d
@ ===
% b ¢
da ¢
(d) —_—=—
b d
DFGT-T-HTM (13-A)

Given that the polynomial (x? + ax + b) leaves
the same remainder when divided by (x — 1) or
{x+1). What are the wvalues of a and b
respectively ?

{a) 4dand0
(b}  Oand3
el Sand0
id)  0and any integer

Tushar takes 6 hours to complete a piece of
work, while Amar completes the same work in
10 hours. If both of them work together, then

what is the time required to complete the
work ?

ta) 3 hours

th) 3 hours 15 minutes
(e} 3 hours 30 minutes
(d) 3 hours 45 minutes

What is the value of 2 + J2+,|I2+...I',........ by

ta) 1
by 2
el 3
dy 4

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% failed in both the subjects, then what
percent passed in both the subjects ?

(a} 77
(b) 58
(e) 48
d) 23
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43, UF Ffw Bmd ge A d° , T 3,90,000 (=2 4y =2 +fz<x)8
ﬁmﬁ@gmﬁa%%,ﬁaaﬁ‘ﬁ' -9 0-DC g - A
ait = Sfeat § st s o | 3w Bdw e
o fip et wfer e 4 W fredt B
Y 92 H Ih I T g fe @i L

(a) 1

AR ot a9ufyn @ = faedt 8, acies &8 =0 @ 1
3wt g ufe et =ifew | e @ T 3
fopamr = 2 d) 3
(a) T 14,000
 wm L |
o Wik 47, dfe a* = b¥ = ¢ :H"Rb2=ac%.?ﬁ;+;
() T 10,000 st
(d) T 9,000 @ X
y
44. 40% TF THgfy = B [T W o W (b) —i
gaufy FH-E-FE o oof a9i 4 farh & =
B amuft 2 (e} %
(a) 3 (@ t o
b 4 )
B 48. I p 3T o, WO X2 — 15x +r=0 % 4T §
(d 6 M p-—q=1%8 A rFI O FATR ?
{a) 55

45, U& =Afeh 4 = 17,200 * g &1 #7 9o ° & 56
fafsm +2, 39 5%, 6% 31 9 anfds wramo

(e} 60

= sl 2 W e R 1 @ ast & wfee s g

o, 39 gt o= Rl 4 veenm == aeE

g | 9% = W g it m gfn feah

2 49. @b <2 - 7x + 12 > 0 % o, fsfefas §
o Hiaa ?

(a) ¥ 3.200 Lk
fa) B<x<4

W A0 (b) FAET —o<x<3

() & 4,800 (c) Fadd<x<om

(d) = 5,000 d) —ocecx<3HYGT 4 <cx <=

DFGT-T-HTM (14-A)

www.examrace.com



43. A man who recently died left a sum of 46. What is Z-y)P? +(y-28 +(z—x)®
T 3,90,000 to be divided among his wife, five| 3(x-y)(y -2z —x)
sons and four daughters. He directed that to ?

each son should receive 3 times as much as

equal

(a) 1
each daughter receives and that each
daughter should receive twice as much as by 0
their mother receives. What was the wife's 1
(e —
share 7 3
{a) ¥ 14,000 (d} 3

(b) ¥ 12,000
d 47. If a* = b¥ = ¢® and b® = ac, then what is

(¢) ¥ 10,000 1 & Lagulie?
Yox z
(d) ¥ 9,000
Gy o
¥
44. What is the least number of complete years 1
in which a sum of money put out at 40% - v
annual compound interest will be more than 9
trebled ? LU
(a) 3 2
d) =-=—
(b) 4 ¥
(e 5 48. If p and g are the roots of the eqguation
@ 6@ x*—15x + r =0 and p — q = 1, then what is the
value of r 7
(a) 55
45. A person divided a sum of ¥ 17,200 into three ) 56
parts and invested at 5%, 6% and 9% per © 80
annum simple interest. At the end of two d 64

years, he got the same interest on each part of

money. What is the money invested at 9% ? 49. For the inequation x” — 7x + 12 > 0, which one
of the following is correct 7

(a) ¥ 3,200
fa) 3<x<4
(b) ¥ 4,000
(b} —=<x<3only
fc) 7 4,800 {c) 4<x<owonly
(d) ¥ 5,000 dl —=m<e<x<3 ord<x<os
DFGT-T-HTM (15-A)
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50. =Fah 520 —230 FH PHES B 54, TU#F HHYSYS ABCDEF 7t fo=m fifsw | B 3
CWE e feom g | A#, B foum et &

{a) 3
it =1 3FEE FI07 300 B, AR C W e T S
(b)y 7 ¥iY =1 IFAT FW 45° 2 | B 3R ¢ W EE
ey 17 Z1ail 1 FErEdl w1 S =R 7
(d) 3I9F § | BIg T @ 1: .43
thy 1:3
51. Elﬁtanx=l,ﬂ{xdgﬂ“%,?ﬁEsinxmsxiF{
O =41 8 7 e} 1:2
(a) l d) 1:21‘%
2
by 1
55. tan 1°tan 2°tan 3°...... tan BO° T O 4T & ?
{c) E 3
. 3 (a) ]
b 1
(d 3 ':
e} 2
52. sin4ﬁ“cus44“+ms4ﬁ“sin4—4“EFI'I-'IHEFEIT%? iy =
(a)  sin2° 56. =1 gt nferl 2, ueksk et 39 @ afaw
(b) 0 3 foew 2 | ueeht meft 4 =fEe @ s o an

AT {31 Ueh Afth qEdl Tefl § S SEa 8 @
o qrff o B | feft ome W o ol e
(d) 2 150° q3d1 8 3f1 15 e 7 20 kovhr 1 71
¥ wer R | 3 A @@ 60° AR 3i HEan

53. WA ST 0 < 6 < 90° B, A v 6 % o, aftt 20 fire @ 30 knv/hr 1 Tf & e gEd
4 sin2 0 + 1 FFE® 2T ateET wOER 2 2 Teft ®§ 9= e 2 | gFl nferal % s 6 gl

fe) 1

ferereft 2 2
(a) 2
ial 76 km
(b) 4sinb ®) 105 km
) 4ecos0 {c) 125 km
(d) 4tanb dy 15 km
DFGT-T-HTM (16-A)
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50. The expression 52" — 29" hag a factor 54.
(a) a
by 7
(¢) 17
id} None of the above
581, If tanx =1, 0 = x = 90°, then what is the
value of 2 sin x cos x 7
1
(&) =
2
(b} 1
55.
le) ﬁ
2
(d) 3
52. What is the value of
=in 46° cos 44% 4 cos 46° sin 44° 7
N L+]
(a)  sin 2 56.
by O
() 1
dy 2
53. Suppose 0 < 6 < 90°, then for every 8,
4sin® 0 + 1 is greater than or equal to
{a) 2
by 4sinB
e} deosd
idl 4tand
DFGT-T-HTM (17-A)

Consider a regular hexagon ABCDEF. Two
towers are situated at B and C. The angle of
elevation from A to the top of the tower at B is
30%, and the angle of elevation to the top of the
tower at C is 45°. What is the ratio of the
height of towers at B and C ?

(a) 1:43

by 1:3

(c) I3

(d 1:243

What is the value of

tan 1° tan 2° tan 3° .......... tan 89° 7
(a) 0

h 1

{c) 2

(d) =

There are two parallel streets each directed
North to South., A person in the first street
travelling from South to North wishes to take
the second street which is on his right side. At
some place, he makes a 150° turn to the right
and he travels for 15 minutes at the speed of
20 km/hr. After that he takes a left turn of 60°
and travels for 20 minutes at the speed of
30 km/hr in order to meet the second street.
What is the distance between the two streets ?

fa) T-5km

(b} 105 km
(e} 12-5 km
(d) 15km
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57. A2 3tanB=cotOTE 0<B< %%,?hemqﬂ 61.

oI
"

{ —
a) 6
b .
(b} i
T

el 3
v

(d) %
58. sin® 25°
fa)y 0
by 1
{e) 2
dy 4

59. sin® 6 + cos® 0 + 3 sin? 0 cosZ 8 — 1 =1 TF 4T

2
(a)
(h)
(ch
(d)

60. ardfas wemsd o, B,y I 5 & faw,
fr=fafaa s faem ifew .

sec o = 1/4

tan p = 20

1.

2.

%

4.,

(a) Ush

(b) @

(el G|

(dy =X
DFGT-T-HTM

P R

cosecy = 1/2
cosd=2

9w | & o fe wva 787 @ 2

+5in2 65° T AH FE ?

62.

(18-A)

frefafigs orffea areama seq w =R

FHifaw
x f
0-10 8
10— 20 12
20— 30 10
30 — 40 p
40 — 50 9

afe 39t 29 1 AIeT 252 B, d1 p 1 AH F4

22

(a) 9

(by 10

) 11

d) 12

Frafafan aiema 9a7 = fasw it .
X r
8 6
5 4
G 5
10 8
9 9
4 6
7 4

34 w2 i mifeas #4918 7

tal &

by 7

el 8

d 9
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BT, IE § tan B e whiste 0 egE g - Vi 61. Consider the following grouped frequency

distribution :
is the value of 6 7
& X f
B3 0-10 8
(b) E 10 — 20 12
- 20 - 30 10
{e) —
3 30—40 P
T
(d) 5 40 — 50
If the mean of the above data is 252, then
58. What is the value of sin? 25° + sin? 65° ? what is the value of p ?
(a) O (a) 9
by 1
(b) 10
fe) 2
idy 4 et 11
(d) 12
59. What is the value of
. . a2 2
sin® 0 +¢0s” 0 + 3 sin” Bcos” G- 17 62. Consider the following frequency distribution :
(a) 0
by 1 x f
() 2 8 6
dy 4 5 4
. i 6 5
60. Consider the following for real numbers a, B, v
and & 10 8
1 sec o= 1/4 9 9
2 tan f = 20 6
3. cosee y = 1/2 7 4 -
4 cos & =2 _ What is the median for the distribution ?
How many of the above statements are
not possible ? a) 6
(a) One m 7
(b}  Twao ©@ 8
(el Three
id) Four d 9
DFGT-T-HTM (19-A)
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50 AT B ilRl @1 afvEd x | afg o
=T v quiteRi =1 ot snfie = fomn s, | S
e (Area) a1 8 7

(a)
(h)
(c)

(d)

2 Rl gl vH et w ffEw Fifeu
ITh F| W AW wger 24w oo, &
wdl £ | 39 SR $i g1 I 1 e
aivga w0 8 7

33

44

55

66

63.

x+1
X+ 2

x+4

% + (x/54)
Eil
EE|
=l

(a)
(b}
(c)
(d)

aa % em fregn ¥ frafefas @ @ s
wfefera g@ & 2

1. Y9 WiE (I 2rum)

2.  gAnNE (TE-=rEam)

3. Toefm s (fieemm)

= B v e w1 wEm W wE I g

Fae 137 2

Fae 230 3

(c) “hae 1313

(d) 1,233

frafafias 4 o 94 v fafa o wwha o
e sfens, e sHiws 777 BN E 2

Trgel SR HIETeRE G

YIE SRR HIETRR g

TR % WeEE | 9eft 8 gieEi gm
TR THY-IEY H

65.

{a)
(b)

66.

ta)
(h)
(e
(d)

DFGT-T-HTM

67.

68,

(20-A)

s S 1 WIS = T 6,000 2 | fafim wai

T 19 T wed e 2
= #1 72 e (e &)
1. @’ 2,000
2. 9= 660
3. 36 i feprman 1,200
4. o 480
5. fafaw 1,660

ﬂﬁ?@ﬁfﬂ-@ﬁ]ﬁcmﬁﬁ%ﬁ
yfaeaa =y s | Fefua e s, @
foren si fafew & oefus ww ama & Fi
el it Avangail s = B 2

{a) 1:25em 3 5 em

(b) 12 ¢m 3T 415 em
(¢) 1-2em 3 3-5cm
(d) 415cm #T 6 cm

ﬂﬁnﬁﬁﬂﬁﬁﬁmﬁ&lﬁﬂﬂmﬁlnﬁaﬂ(ﬁﬂ
Yo7l T ALY m 2, @ Tl o Vel = Aren =,
B?

fa) 2m- —
n
2
(b} 2Z2m+ —
n
2
{E] m_m_
n
2
(d) L i
n

www.examrace.com
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63. The average of 50 consecutive natural|67.
numbers is x, What will be the new average
when the next four natural numbers are also
included ?
fa) x+1
(b} x+2
()] =x+4
(d)  x+(x/54)

64. Consider two-digit numbers which remain the
same when the digits interchange their
positions, What is the average of such
two-digit numbers ?

(a) 33
(b) 44
(c} Bb
(d) 66

65. Diagrammatic representation of data includes

which of the following ?

Bar diagram

2. Pie-diagram

3. Pictogram

Select the correct answer using the code given
below : 6e.
(a) 1and 2only

(b) 2 and 3 only

fe)  1land3only

id} 1,2and3

66. The data collected from which one of the

following methods is net a primary data ?
(a} By direct personal interviews
(b) By indirect personal interviews
{c) By schedules sent through enumerators
id) From published thesis
DFGT-T-HTM (21-A)

The monthly expenditure of a person is
2 6,000, The distribution of expenditure on
various items is as follows :

Item of expenditure Amount {(in )

1. Food 2,000
= Clothing G660
3. Fuel and rent 1,200
4, Education 480
5. Miscellaneous . 1,660

If the above data
percentage bar diagram of height 15 ¢m, then
what are the lengths of the two segments of
the bar diagram corresponding to education

is represented by a

and miscellaneous respectively ?

{a) 125 cmand 5 cm

(b)Y 1 2cmand 416 em
(e} 1'2em and 3-5 em
(d) 415 cm and 6 cm

If the mean of m observations out of
n observations is n and the mean of remaining
cbservations is m, then what is the mean of all
n observations ?

2
(a) 2m-
n
)
b))  Z2m+ —
mn
2
(l:} m_m_
n
)
(A m+ 2
n
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69. Fafifigs d @ =\ ww 3w aft &9 3|72
gife 8 7
(a) WTTET=RI - e feafa
(b) HIER —- oot el
() TUIERETE —  HAEE
(d) d=gelh - ma 73.
70, fr=fafan g v owma = & sREwGr @
At IHS WHERaT "EYS § Hetgd A |
frafafiga @ & =H@ & g9 wd w9 @
gufee 77 2 7
(a) YA I IER T@ - X4
(b) WEMH & T A - T AREAnane |74
wifeat
(c) B & ¥l Yo - areme 9ed &
1 3w (FEm
T )
(d) WEYH H1EFHS - =W A
.
75.
71. UF 54 U, o 25 e i o9 T R
gfe wEm i arErE # JEE wE: 30% S
10% =@ @ =, a1 =& 9w fean ==
T ? '
40
Ea] ?%
(b)  20%
(e) 25%
d) 27%
DFGT-T-HTM (22-A)

oy fomeft e i uede o = e w
A, 9 IEF EEea ¥ Feed wfiem wH A
St 7

(a) 75%
{b) B0%
(c) 25%
(d) IS qitE= &

U MR el 1 FAFaA 700% @@ f&a
S| R | 3k g &Fea § wfawaa 3hg
feperdt 2 2

(a)  300%

(b)  400%

(e)  450%

(d) 500%

afE 10 em B A ww TE # 9 gEERR
el s wFEEai 12 em 3 16 em B, @ A
3 st 3 i 61 28 Fe 2 2

(a) 1cm JAYET T em

(b) 2cm #AYST 14 em
() 3em 3AYFT 21 em
(d) 4 cm FJYFT 28 cm

‘o’ YT 9T U a1 % of @@ il e
e, 2 g =99 T % e 3@ TER @
m ¥ R 3 3y g ofist =+ dired €, iR a
Bl TG B | S ST AEell W weEles SEhe
fraar & ¢

2 1
(a) a“(m+ 2)

1
b L =

{c) az{i -1

id)
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What is the percentage decrease in the area of
a triangle if' its each side is halved ?

{a) T5%
(b) 50%
(c) 25%
id) No change

The volume of a spherical balloon is increased
by T00%. What iz the percentage increase in
its surface area ?

ta) 300%
(b) 400%
{c) 450%
d)y  H00%

If the lengths of two parallel chords in a circle
of radius 10 em are 12 em and 16 em, then

what is the distance between
chords 7

these two

{a) lemor 7em

(b)Y 2Z2emorldem
(¢) Semor 21 em
(d) 4 emor 28 em

Considering two opposite vertices of a square
of sid-?, ‘a’ as centres, two circular arcs are
drawn within the square joining the other two
vertices, thus forming twoe sectors. What is the

common area in these two sectors ?

69. Which one of the following pairs is correctly | 72,
matched ?
(a) Median —  Graphical location
A4b) Mean — Graphical location
(el Geometric mean — Ogive
(d) Mode —  Ogive
73.
70. The following pairs relate to frequency
distribution of a discrete variable and its
frequency polygon. Which one of the following
pairs is pof correctly matched 7
{a) Baseline ofthe - X-axis
polygon
74.
{b} Ordinates of the — Class frequencies
vertices of the
polygon
{e)  Abscissa of the — Class marks of the
vertices of the frequency
polygon distribution
(d) Area of the — Total frequency
polygon of the distribution
75.
71. In a rectangle, length is three times its
breadth. If the length and the breadth of the
rectangle are increased by 30% and 10%
respectively, then its perimeter increases hy
40
tal —
W B
(hl  20%
(c} 25%
dy 27%
DFGT-T-HTM (23-A)

(a) azin+%1
(b) azfur—%‘.l
(el 32{% -1}
(d) aﬂ{% +1)
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76. ‘@’ WS 9 UH T & BA B IH IR F | go, v wua Hyd w1 afmm 3w w6 o1
w # 6w wW s A 7 | e Al H kTR | AR = g W W & oAy

it s Rt & 2
S I 4: 58, A k1 HE R 2
(a) a(J2-1)
(a) 2
(b} a(+/3-1)
by 3
a
(e) J2 s c} 4
@ 5
a
d it
@ <

: ; 2 m @ a0 % g1 ghe feu o E, e A
77. @9 wumE O wead wh @ G H| 0 12 H
m@ﬂﬁfﬁlﬁmﬁaﬁqmw T ! U g &9 H Al A 7 3w gE H

e % e =g 9vd 8 9% & 2 T T % ®9 H, g0 F dfEg @ ge A
(a) Had TH ' ST 8 | g R Gem o ® 2
(b) e 3l bl 124
(¢} whad dH i
(d) 3HFdd: 3FS (b) s
n+d
78. UH # fag w1 g A 3 99 @i e # 3
BIe g 1 9 44 em B 3N a2 g9 H ofify W =T
wie ga %I gty 1 g 28 | 3= I g9 F
ot =1 & e & 2 @ EJ_
(a) 154 cm? i
(b) 308 cm?
cmz 82. UHBYEF FET 1.1 4 F U d F | 3R
Wl fryw 1 ot swh w e A ko
(d) 616 em? ‘%,Fﬁkﬂﬂﬂﬂw%?
79. U 6ft x 12 ft ITHER & AFATHN Al FIeAH | 9
IS TR Em A dm 2 mew| 2 1t
w1 it Hmr vt 1 SEee a2 2
(@ 9w g (b) 1"%
(b) 151 e ,
(@) 1791 $e ), Wik
(d) 18 @ $e &
DFGT-T-HTM (24-A)
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76,

T7.

78.

79,

DFGT-T-HTM

The corners of a square of side ‘a’ are cut away
so as to form a regular octagon. What is the
side of the octagon ?

al2=1)
a(v3-1)

{al

(b)

Three consecutive integers form the lengths of
a right-angled triangle. How many sets of such
three consecutive integers is/are possible ?

ia)  Only one
(b}  Only two
ic)  Only three

id) Infinitely many

Two circles are drawn with the same centre.
The circumference of the smaller cirele is
44 em and that of the bigger circle is double
the smaller one. What is the area between
these two circles ?

(a)
(b}

(c)

154 square cm
308 square cm
462 square cm

616 square cm

A rectangular red carpet of size 6 ft < 12 fi has
a dark red border 6 inches wide. What is the
area of the dark red border ?

(a)
(b}
el
id)

9 square feet
15 square feet
17 square feet

18 square feet

80,

81.

82,

(25-A)

The perimeter of a right-angled triangle is
k times the shortest side. If the ratio of the
other side to hypotenuse is 4 : 5, then what is
the value of k 7

(a) 2
by 3
(cy 4
id) 5

A 12 m long wire is cut into two pieces, one of
which is bent into a circle and the other into a
square enclosing the circle. What is the radius
of the circle 7

{a) 8
w44

& =
T+4

3
@ T+4d
id) L)

T+242

The angles of a triangle are in the ratio
1:1: 4 If the perimeter of the triangle is
k times its largest side, then what is the value
of k ?

2
a) 1+ —

V3

2
(b)) 1=—

V38

2
el 2+ —

3
dy 2
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83. UH FHHU BT F FU 10cm B 3 IAF|86. TH HGl UH FeAlw dOw & wEn @ w@ B
el 24 cm? 8 | AR 3w S g 3w 3 TEH q GAR W 25 m R | AR Aw
sft =gt e F g w e W R, @ T AR W 08 m A H FR W A g, Aq

9 e 81 9T R 7 FEH! Al A ¥ 1.4 m 3 sl g1 8
# | et i wad fmeh B 0

(al 245 cm
(a) 62m

(h) 255 cm

' (b) 65m

(e} +/265 ecm
{c) 68m

(d) 275 cm
dy 75m

84. 8 cm 5 98 % g9 H, AB 3 AC T ffaTd [87. &1 HAH 97 Uh-gEl i 36 WK Hfdesq Hid &
39 wR § f AB = AC = 12 em B | Sl BC foF 8 & T g9 g 99 F F W

& wrad feadt 2 2 e & | Al gFl el s wdfss Sfer #i
TS 1043 em #, A1 g9 F1 =@ a2 2

(a) 26 em
= aﬁcm {a) 10 em
(b)  15cm
{c) 37 em
{e) 20 em
@ 87 em (d) 30
om
85. Tmfefa suAl W few Fifswe . 88, fr=fafas wuai w femm Fifsu .
1. U FfEETg H9eiE ghe w9 g @ | 1. W sEE famgs @ T @il
9. #ré off T wuia Sqds v s g ke Ll
3 9. frelt gv % =g @ug (Fmie) § =9 =
I # A I wed w2 o ﬁm:ﬁﬁmﬁmﬁl
£ ok I B § FH-AVE FUH JE A 7
(a) oHad 1
(b) a2 (b) Fad 2
(e) 1MW 23M (¢) 13 22
(d) Td 1,798 2 (d) Td 1, T8 2

DFEGT-T-HTM (26-A)
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83. The hypotenuse of a right-angled triangle is |86,
10 em and its area is 24 em? If the shorter
side is halved and the longer side is doubled,
the new hypotenuse becomes
(a) /245 cm
(b) /255 cm
(¢) 265 em
(d) V275 em

B7.

B4. In a circle of radius 8 cm, AB and AC are two
chords such that AB = AC = 12 ecm. What is
the length of chord BC ?

(a) 2V6 em

(b) 346 em

(e) 347 em

(d 647 em

88.

85. Consider the following statements ;

1.  An isosceles trapezium is always cyclic.

2: Any cyclic parallelogram is a rectangle.

Which of the above statements is/are correct ?

ia) 1only

(b) 2 only

{c) Bothland2

(d) Neither 1 nor 2
DFGT-T-HTM (27 -A)

A ladder is resting against a vertical wall and
its bottom is 2-5 m away from the wall. If it
slips 0-8 m down the wall, then its bottom will
move away from the wall by 1'4 m. What is

the length of the ladder ?
(a) 62m
(b} 65m
ic) BB8m
idy 7-65m

Two equal circles intersect such that each
passes through the centre of the other. If the

length of the common chord of the circles is
1043 cm, then what is the diameter of the

circle ?

fa) 10c¢m
(b} 15 cm
fe) 20 cm
(d) 30cm

Consider the following statements :

1. The number of circles that ean be drawn
through three non-collinear points is
infinity.

2. Angle formed in minor segment of a
circle is acute,

Which of the above statements is/are correct ?

{a} 1only

(b) 2 only

(e} Both 1 and 2
(d) Neither 1 nor 2

www.examrace.com



B9.

90.

DFGT-T-HTM

fet Brgw ABC % weW #, fafefes

srafieman o fa=an fifaw .

1. AC—-AB <BC
2, BC-AC < AB

3. AB-BC <AC

Iudeh #f § HH-8 8§ 2
(a) had 1 3R 2
(b) ad 2 3N 3
(e) “haet 1310 3

(d 1,233

fFr=ferfiaa wuE w famm i .

1. Toret Ty 1 afimm soeht @ e
(dfifem) & e & = B 2 |

2. Tl frgw ABC #, af2 BCw =18 fag D
8, A1 AB+BC +CA>2ADEAT 2 |

I § & FA-EA FF T 2R 7
(a) “had 1

(b) <R 2

(¢) 13 23

(d) ATdT1,FHE2

ST 3T ATH H4 (03) wy=vn & fore Fraforfaa w
foram Hifsu

s o9 et Tt & A@ia B | 99 & 35t U
de-geia dwd 8 St 39 gt Feaiar el w e
FT | Ao % AL Th SE-gHiE TE 2 | IR
Farsai auet 8 I UF W =AW Sed 8 oW %
R

91. TS % IEAA W TP & G d T FIH

2?7

(a) 643 :1
(b) 7:2
(e) 343 :1
@ 548 :1

92, U9 % AT H 4TH F EAT § T AIE
27
(a) 4:3
b) 21:16
© 14:11
(dy 45:32

93. Timfefas wuai w famm Fifvw
1. T W U #E%d, W % ds T

Ba%e & /6 T2 |

2. A = Y HABE, deF H qH YR
Gl o T 2 |

I | | FE-AVE HYA 98 28 ?

(a) wad 1

(b) Ha 2

(¢) 13 2zl

(d) A LAE2

(28-A)
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89. Consider the following inequalities in respect | Consider the following for the next three (03)

of any triangle ABC : items :
A cube is inscribed in a sphere. A right
AC-AB <BC cireular cylinder is within the cube touching all the

vertical faces. A right circular cone is inside the
cylinder. Their heights are same and the diameter of
the cone is equal to that of the cylinder.

2, BC -AC < AB

3. AB-BC<AC

Wihiok of s abeve nte.carrasts 91. What is the ratio of the volume of the sphere
to that of the cone ?
(a} 1and 2 only (a) 643 :1
(b} 2and 3 only RIS il
(€} 343 :1
{c) 1land3onl
o 7 @ 5438 :1
(d} 1,2and3
92. What is the ratio of the volume of the cube to
that of the cylinder ?
(a) 4:3
{b) 21:16
90. Consider the following statements : () 14:11
(d) 465:32

1. The perimeter of a triangle is greater

than the sum of its three medians. 93, Consider the following statements :

2.  In any triangle ABC, if D is any point on 1. The surface area of the sphere is
BC, then AB + BC + CA > AD V6 times the curved surface area of the

cone,
Which of the above statements isfare correct 7 2.  The surface area of the cube is equal to
the curved surface area of the cylinder.
{a) 1only y J
Which of the above statements is/are correct ?
(b}  2omly (a) 1omly

(b} 2 only
{c) Both1land?2

(¢) Bothland?2

{d) Neither 1 nor 2

{d) Neither 1 nor 2

DFGT-T-HTM (29-A)
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AT 31T =T 719 (03) TN o ferg Faferias w
ﬁwﬁﬁm:

ABCD UF =g¥w 2 f&d AB = 9 cm,
BC = 40 em, CD = 28 em, DA = 15 cm 3R &M ABC
U THHI B |

94, FBYs ADC 1 &FFA A & 7
(a) 126 em?
(b) 124 cm?
(¢) 122 em?
(d) 120 em?
95. =a¥¥ ABCD % &5%a foha1 & 2
(a) 300 cm?
(b) 306 cm®
() 312 cm?
(d) 316 cm?
96. Y= ABC % wimmg 3fit fiys ADC % wfmmg &
== fome 3t 2 9
{a) 4cm
(b) Hem
(e} Bem
(d) Tem

ST ST AT 3 (02) T & e Peafefae w
ﬁ*n‘n'ﬁ'ﬁm;:

wh @HeTE BT ABC, 2043 cm # = @@
T g9 % A 7 |

97. T =iy =i T w4 R 2
{a) 30cm
(b} 40cm
{c) 5H0cm
(d) 60cm
DFGT-T-HTM {30 -

98. s ABC *1 %, ¥ A Hd g W R |

d feruer e 2 2
(a) 15em

(b} 20cm

) 2043 em
(d) 30V3 em

T AT =ATE 2F (02) ToATH o e Fafafae w
faram o .

U SEFIE GUR YIhAE # o, =ien
3t F= & TEE 22 om 2 3N I el i
wFETS 14em B |

99. wEHIUE GG WHER B JOId  HIwE

fram 2 2
(a) 288 cm?
(b) 216 cm®

144 cm?

AT ga % wnw Fuife adf o
LETl

(el
(d)

100. 72 wEwiftle oA Shese i famied
(frm) % =1 (@) *1 Gea 8, 3 3HH
A VR, a1 (S — 3V) Tohaes SUst 2 7

(a) 572cm®

(b) 728 em?

{c) 1144 cm®

(d) I9GH H H HIE AR
A)
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Consider the following for the next three (03)
items :

ABCD is a quadrilateral with AB=9 cm,
BC = 40 ecm, CD = 28 ¢m, DA = 15 ¢m and angle
ABC is a right-angle,

94. What is the area of triangle ADC ?
(a) 126 cm?
(b) 124 em?
(e) 122 em?
(d) 120 cm?
95. What is the area of quadrilateral ABCD ?
(a} 300 cm?
(b) 306 cm?
(e) 312 cm?
(d) 316 em?

96. What is the difference between perimeter of
triangle ABC and perimeter of triangle ADC ?
fal 4cm
(h)  5cm
{e}) 6Gcecm
(dl Tem

Consider the following for the next two (02)
items :

An equilateral triangle ABC is inseribed in a
circle of radius 2043 em.

97. What is the length of the side of the triangle ?
fal  30cm
(b} 40 em
ic) S50em
id} 60em
DFGT-T-HTM (31—

The centroid of the triangle ABC is at a
distance d from the vertex A, What iz d equal

to ?

fa) 15¢cm

(b} 20cm

(¢) 203 em
(d) 3043 em

Consider the following for the next two (02)
items :

The sum of length, breadth and height of a
cuboid is 22 em and the length of its diagonal is
14 em.

99. What is the surface area of the cuboid ?

{a) 288 em?
(b) 216 cm?
(c) 144 em?
(d} Cannot be determined due to

insufficient data

100. If S is the sum of the cubes of the dimensions
of the cuboid and V is its volume, then what is

(8 - 3V) equal to ?

(a) 572 cm?

(b) 728 ¢m?

(c) 1144 cm?

(d) None of the above

A)
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